4.5 Inequalities Test Review.notebook November 25, 2015

November 24th Due Next Class: TEST

Get Ready: TEST ON MONDAY

Sam cuts a 10 m rope into two pieces.
How long is the longer piece?

How long 1s the shorter piece?




4.5 Inequalities Test Review.notebook November 25, 2015

nequ: ]'t]".- E! S
Will inequalities give us one -ﬂ +2>2
xact value as the answer? 4 2 2
RO\V‘L < O‘C —S+
Iadions U
Eeiue\\‘img (:) vi>9
s

-5
] \

What is the difference?

x>8 8§>x
X s grectes 3 15 Greoler
Fhon 8 H\C\f\ x
B <X X<y
Wereite the Inequality

A R e

4-3-2-101 2 3

Xe-a OR XS

(e

P S T W RS B

W00 5

Fm-526-3m AND [ —2m&LBmr b

2 — % tIm

2 3 G4 hmie

lIm;Ygg <~ 6
LAY my| And Zie

N
Mr. Rogers is baking some cookies forhis advisory.

He has already spent $9 on supplies but would oy
also like to get candy. He doesn't want to spend 9
more than $23 on all of the treats. If each bag of
candy costs $1.25, then what is the most number
of bags that Mr. Rogers can buy?
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‘What does it mean for a point to be a

solution to a linear inequality?
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